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INSTRUCTIONS AND INFORMATION

1.

10.

1
12.
13.

This question paper consists of TWO sections.
SECTION A

QUESTION 1: RURAL AND URBAN SETTLEMENTS (60)
QUESTION 2: ECONOMIC GEOGRAPHY OF SOUTH AFRICA (60)

SECTION B

QUESTION 3: GEOGRAPHICAL SKILLS AND TECHNIQUES (30)
Answer ALL THREE questions.

ALL diagrams are included in the QUESTION PAPER.

Leave a line between the subsections of questions answered.

Start EACH question at the top of a NEVV page.

Number the answers COI‘FOGUY accord‘iﬁg to the numbering system used in this
question paper.

Do NOT write in the margins of the ANSWER BOOK.
Draw fully labelled diagrams when instructed to do so.
Answer in FULL SENTENCES, except when you have to state, name, identify or list.

Units of measurement MUST be indicated in your final answer, €.g. 1 020 hPa,
14 °C and 45 m.

You may use a non-programmable calculator.
You may use a magnifying glass.

Write neatly and legibly.

SPECIFIC INSTRUCTIONS AND INFORMATION FOR SECTION B

14.

15.

16.

17.

A 1: 50 000 topographical map 2926AA BLOEMFONTEIN-NOORD (NORTH) and
a 1:10 000 orthophoto map 2926AA 10 BLOEMFONTEIN-NOORD (NORTH) are
provided.

The area demarcated in RED/BLACK on the topographical map represents the
area covered by the orthophoto map.

Show ALL calculations. Marks will be allocated for steps in calculations.

You must hand in the topographical and orthophoto map to the invigilator at the
end of this examination.
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SECTION A: RURAL AND URBAN SETTLEMENTS AND THE ECONOMIC
GEOGRAPHY OF SOUTH AFRICA

QUESTION 1: RURAL AND URBAN SETTLEMENTS

1.1  Refer to diagrams A and B of the dispersed and nucleated rural settlements below.
Match the statements with either A or B. Write only the letter A or B next to the
question numbers (1.1.1 to 1.1.8) in the ANSWER BOOK, e.g. 1.1.9 B.

DIAGRAM A DIAGRAM B
- e
. " [ .u..-_:
ane:
. ¢ ?’:. =

[Source: https://quizlet.com/466498073/2016-ap-human-geography-multiple-choice-answers-flash-cards]

1.1.1 Buildings are widely spaced.

1.1.2 Sharing farming equipment (tools).

1.1.3 Lacks privacy.

1.1.4 Easy target for criminals.

1.1.5 Basic services are distant (far).

1.1.6 Easy to socialise.

1.1.7 Where farming is associated with more (large) profit.

1.1.8 Reduces the need for manual labour and the cosi of production. (8 x 1) (8)
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1.2 Choose a concept in COLUMN B that matches the description in COLUMN A.
Write only the letter (A — H) next to the question number (1.2.1t0 1.2.7)
in the ANSWER BOOK, e.g. 1.2.8 |

S COLUMNA COLUMN B
¥ELm serviced by a A. Low-order goods

Ly. B. Urban hierarchy
on daily basis. C. Urban Morphology
mers needed D. Sphere of influence

f urban areas E. Urban Sprawl
_ functions.
ance of an urban F. Range of goods
settlement (form and structure).
1.2.7 Uncontrolled expansion of a city. G. Threshold population

H. Urban profile

(7 x 1) (7)

1.3 Referto the graph and ext ) Rural- Urban Migration.

7.0
6.0
5.0
4.0

3.0

Population {in Biflions)

2.0 1

1.0 |

0.0

2030 2040 2050

1950 1860 | 1970 1920

Rural depopulation is an increasingl Africa, with significant
consequences for the social, economic, an ell-being of the nation. With the
ongoing migration of people from rural areas to urban areas, the challenge of rural
depopulation has become a central topic in the public policy discussion.

Rural depopulation refers to the decline in population density in rural areas. This can lead
to a loss of social cohesion (unity), economic stagnation, and environmental degradation
in affected rural areas, posing challenges for policymakers and local communities.

Ultimately, the future of South Africa’s rural areas depends on the ability of policymakers,
local governments, and communities to work together to address the complex factors

driving rural depopulation.
[SOURCE: Adapted from: Rural Depopulation in South Africa Per Province: A Growing Crisis ]
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1.3.1 Define the concept rural depopulation. (1x2)(2)

1.3.2  What trend is shown by the world urban population migration
pattern, in the graph above, between 1990 and 20207 (1x1)(1)

1.3.3 Discuss TWO push factors that cause people to leave rural areas. (2 x 2) (4)

1.34 In a paragraph of approximately EIGHT LINES explain the effects
of rural-urban migration on rural areas. (4 x2)(8)

1.4  Refer to the diagram below on urban land use zones.

[Source: examiner’s own sketch]

1.4.1 What is an urban land use zone? (1x2)(2)
1.4.2 Why is the CBD located at the centre of the city? (1x2)(2)
1.43 (a) Identify land use zone labelled A in the diagram above. (1x1)(1)

(b)  State TWO characteristics of the land use zone identified
in QUESTION 1.4.3 (a) above. (2x1)(2)

1.4.4 Refer to heavy industrial zone B in the diagram.
(a)  Describe the expected topography (relief) of the land. (1x2)(2)

(b)  Give ONE reason for your answer in QUESTION 1.4.4 (a)
above. (1x2)(2)

1.4.5 Explain why the CBD and the heavy industrial zone are often
considered incompatible (located far away from each other). (2x2)(4)
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1.5 Refer to the photograph and the extract below on traffic congestion and
answer the questions that follow.

Road construction, accidents, reckless
driving, and insufficient police presence
nave been identified as the main factors
ributing to severe traffic gridlocks
gestion) on the N3.

The traffic congestion on the N3 stretch
between Pietermaritzburg to Durban,
‘which is arguably the busiest road in

1.5.1 Define the concept traffi tion (1x2)(2)

1.5.2 According to the ex \NE reason for traffic congestion

on the N3, (1x1) (1)
1.5.3 Mention TWO enviranm problems caused by traffic

congestion. i (2x1)(2)
1.5.4 How does traffic congestion negatively impact the economy

of KwaZulu-Natal. (2x2)(4)
1.5.5 Explain sustainable strategies that local government and

authorities can implement to reduce traffic congestion. (3x2)(6)

[60]
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QUESTION 2: ECONOMIC GEOGRAPHY OF SOUTH AFRICA

2.1 Refer to the diagram below. Match the statements with either primary, secondary,
tertiary, or quaternary. Write only the answer next to the question numbers in
the ANSWER BOOK, example 2.1.9 Primary.

THE MAIN
ECONOMIC
SECTORS

SECONDARY

QUATERNARY

[Source: Examiner’s own diagram]

2.1.1 This economic sector delivers various services to support individuals
and businesses.

2.1.2 This sector involves gathering natural resources directly from the Earth.
2.1.3 This sector focuses on turning raw materials into usable or finished goods.

2.1.4 This sector involves intellectual activities such as research, information
technology, and knowledge-based services.

2.1.5 This sector is responsible for producing garments, shoes, and textiles.

2.1.6 This sector has the smallest impact on South Africa’s overall
economic output (GDP).

2.1.7 This sector includes activities like banking, education, and
retail services.

2.1.8 Transport and communication are examples of this economic
activity. (8x1)(8)
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2.2  Match the statements in COLUMN A with the type of industry in COLUMN B.
Write only Y or Z next to the question numbers (1.2.1 to 1.2.7) in the ANSWER
BOOK, e.g. 1.2.8 Y.

Copyright Reserved

COLUMN A COLUNMN B
2:2.1 The bakery in the figure below is a/an ... Y market-orientated
industry. Z raw-material orientated
222 Industries that are generally located close Y heavy
to the central busmess distnct are known Z light
223 Y bridge
Z ubiquitous
2.2.4  Associated with high levels of pollution and Y heavy
occupy large spaces. Z light
2.2.5  Industries that are found near the source of Y market orientated
raw material. Z raw-material orientated
2.2.6 Y footloose
Z ubiquitous
227 Y break-of-bulk industry
Z light industry
(7 x1)(7)
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2.3 The infographic below shows sugar cane farming in South Africa.

SUGAR CANE FARMING IN SOUTH AFRICA

6,000

Kwa Zulu Natal

Mpumalanga Sugar Cane Production

2000 - 2023

e —
Nalbasianh

E

1079

Large-scale farmers

I‘ 23 954 3
|
i

Small-scale farmers J

g

-
=
]

Preduction in thousand metric tons

5
8

f‘-

| 11% of the total agricultural workforce in

! South Africa & @ tf;s"?v“?
(\' {° \"’ Pl

L 270 000 indirect jobs ! F&fd P

65 000 Directjobs l

[Source: https://www.statista.com]

2.3.1 According to
by sugar cane

phic, how many direct jobs are created
J in KwaZulu-Natal and Mpumalanga? (1x1) (1)

2.3.2 Thereis a genera &?&r@aﬁé’l‘n sugar cane production in South
Africa. Explain at least ONE factor that contribute towards this
decrease. (1x2)(2)

2.3.3 Discuss why the two provinces mentioned in the infographic are
favourable for sugar cane farming. (2x2)(4)

2.3.4 In a paragraph of approximately EIGHT lines, explain the
importance of sugar cane production to the South African
economy. (4 x 2) (8)
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2.4  The extract below is on Dube Trade Port Industrial development zone (IDZ).

Dube Trade Port IDZ has seen a hive (an increase) of activities this week as
major automotive (motor manufacturing) companies such as Mahindra South
Africa and Auto Investment Holdings Group (AIH Group), pledged their R1.2
billion investment and have set up shop in KwaZulu-Natal's Trade Zone.

The CEO of Toyota SA Andrew Kirby said the investment will create 250
permanent jobs and many more in the local Durban-based businesses that offer
supply chain, transport, and light industries to the new joint venture. Elevate skill
levels within the Durban region and contribute to the overall industrialization and
sustainability of the local automotive sector.

[Source: https.//www.iol.co.za/sunday-tribune/news/dube-tradeport]

2.4.1 Define the concept industrial development zone. (1x2)(2)

2.4.2 According to the extract, name ONE company that invested in
Dube Trade Port. (1x1)(1)

2.4.3 How does the foreign investment increase the Dube Trade Port
contribution to the gross demestic production (GDP) of South
Africa? | (1x2)(2)

2.4.4 In what way does the creation of jobs by the Dube trade port
impact positively on the people of Kwazulu-Natal? (2x2)(4)

2.4.5 Discuss THREE factors that influenced the development of
the Dube Trade Port IDZ. (3x2)(6)
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2.5 The photograph below shows an informal business located close to a
shopping centre.

j .l"ll

1 |l'l!ul=1;

rce: aet.org.za/reflecting-on-2018-part-2/]

2.5.1 Define the concept informal sector. (1x2)(2)

2.5.2 Mention ONE evidence from the photograph above indicating that
this is an informal sector. (1x1)(1)

2.5.3 Explain TWO reasons for high informal sector economy in South
Africa. (2 x2)(4)

2.5.4 Discuss at least TWO negative impact of high informal sector

economy in South Africa. (2x2)(4)
2.5.5 Suggest measures that the local authorities could implement to
improve the working conditions of informal traders. (2x2)(4)
[60]

TOTAL SECTION A: 120
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SECTION B

QUESTION 3: GEOGRAPHICAL SKILLS AND TECHNIQUES

GENERAL INFORMATION ON BLOEMFONTEIN

// o
1
J A
At Y |
- f‘ :?‘Lyi\f
| T oI ’j "_\‘_I
A W
~ T S . W o
W~ ]
o .BLOQAFONT#IN

r ~

o~ H/&J"’:{i r.-";r‘/ N
YA
S
P 4
yd

Coordinates: 29°05'S; 26°09'E

Bloemfontein is the capital city of the Free State. It is located in central South Africa on the
southern edge of the Highveld. The area is generally flat with isolated hills. Although
agriculture is the main primary activity, businesses mainly drive Bloemfontein’s economy.

Due to the many businesses, it has attracted more people into the area. This has led to many

new developments.

[Adapted from https://en.wikipeida.org/wiki/Bloemfontein]

The following English terms and their Afrikaans translations are shown on the topographical

map:
ENGLISH
Spring

Game reserve
Roads under construction

Copyright Reserved

AFRIKAANS
Spruit

Wildreservaat
Paaie onder konstruksie

Please Turn Over




Geography P2 September 2025 Preparatory Examination
Downloaded from Stanrnoreﬁﬁflslcs com

3.1 MAP SKILLS AND CALCULATIONS
3.1.1 In which Province is Bloemfontein? (1x1)(1)

3.1.2 In the map index 2926 AA Bloemfontein, 29 indicates the line of
(longitude / latitude) (1x1)(1)

3.1.3 The contour interval of the topographical map is (5 / 20) metres. (1 x 1) (1)

3.1.4 Calculate the average gradient from 6 in block A3 to 7 in block
B4 on the orthophoto map. (4x1)4)

Use the following information:

Measured distance (map distance) between 6 and 7 on the
orthophoto map is 7.5 cm.

Formula: Vertical Interval (V1)
quizontal Equivalent (HE)

3.1.5 The magnetic dedlnafhon for the year 2025 is 22°16" West of
True North. Use information and the orthophoto map to
calculate the magnetic bearing from spot height 6 (1431) in
block A3 to spot hmght 7 (1427) in block B4. (3x1)(3)

3.2 MAP INTERPRETATION

3.2.1 The dominant land use in block A1 on the topographical map is ...

A mining

B farming

C fishing

D forestry (1x1)(1)

Refer to blocks A1, A2 and B1 on the topographical map.

3.2.2 Identify the human made feature in block A2 and B2 that
supports farming activities. (1x1)(1)

3.2.3 Give TWO pieces of evidence that the level of agriculture practised
in these blocks (A1, A2 and B2) is commercial farming. 2x1)(2)
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3.2.4 Refer to the sewage works in block B3 on the topographical map.

(@)  Identify the land use zone where the sewage works are
located. (1x1)(1)

(b)  Give a reason why the sewage works are suitable in this
land use zone. (1x2)(2)

3.2.5 lIdentify the type of economic activity taking place in block C5
on the topographical map. (1x1)(1)

3.2.6 Give ONE piece of evidence from the map to support your
answer to QUESTION 3.2.5 above. (1x1)(1)

3.2.7 ldentify the dominant street pattern in block E3 on the
topographical map. (1x1H()

3.2.8 State ONE advantage of the street pattern identified in
QUESTION 3.2.7 above. (1x2)(2)

3.3 GEOGRAPHICAL INFORMATION SYSTEMS (GIS)

3.3.1 Define concept attribute data. (2x1)(2)
3.3.2 Use the table below toma’tch the information in COLUMN A

with the description in COLUMN B. (1x1)(1)

COLUNM A COLUNMN B
. A. 29°67°20°'S

Attribute data of schools B. 620 leaners
3.3.3 Refer to block A4 on the topographical map and name ...

(@)  ONE linear feature. (1x1) (1)

(b)  ONE point feature. 1 1D
3.3.4 Identify ONE data layer that limits development in block A1

on the orthophoto map. (1x1) (1)
3.3.5 How does this data layer (answer to QUESTION 3.3.2 above)

limit development in this area. (1x2)(2)

TOTAL SECTION B: [30]

TOTAL MARKS: 150
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QUESTION 1: RURAL AND URBAN SETTLEMENTS

1.1
111 A
112 B
113 B
114 A
115 A
116 B
117 A
118 A (1x8)(8)
1.2
1.21 D (Sphere of influence)
122 H (urban profile)
1.23 A (Low order goods)
124 G (Threshold population)
125 B (urban hierarch
126 C ' ] YA
1.27 E (urb : ¢ (7x1)(7)
1.3
1.3.1 Decrease in the nu f people living in rural areas. [CONCEPT] (1x2)(2)
ephf om
1.3.2 Increasing (1% 1)1}
1.3.3 Lack of jobs in rural areas (2)
Low salaries/ wages (2)
Rising production costs in the farms (2)
(Accept examples) (2)
examples) (2)
duction (2)
idies (2)
g reform program (2)
/ institutions in rural areas (2)
[ANY TWOQO] (2x2)(4)
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1.3.4 Businesses close down (2)
Development of ghost towns (2)
Resources underutilised/ underused (2)
Production in farms decrease/reduced (2)
Ageing of population in rural areas (2)
Standard of living decreases (2)
Brain drain (2)
Results in food insecurity (2)
Abandonment/ neglect of farms (2)
Reduction in service provision (Accept examples) (2)
People travel long distances for services (2)
Disinvestment (withdrawal of investment) in rural areas (2)
Family units (bonds) are broken. (2)

[ANY FOUR] (4 x2)(8)
1.4
1.4.1 Land in an urban area that is used for a specific purpose or a
function
[CONCEPT] _ (1x2)(2)

1.4.2 High accessibility (2) ..
It is where the city originated (outward expansion) (2)
Commercial heart of the city (2)
[ANY ONE] - (1x2)(2)

1.4.3 (a) Transition zone (zone of decay) (1x1)(1)

(b)  Surrounds the CBD. (1)
Buildings are old and dilapidated. (1)
Social and moral decay [Accept examples]. (1)
Functions are mixed. (1)
Land value is fairly expensive. (1)
Fragmented/ Irregular shaped. (1)
Influx of foreigners. (1)
Poor infrastructure. (1)
High level of pollution. (1)
Informal traders. (1)
Influx of students. (1)
Influx of homeless people. (1)
Graffiti on the walls. (1)
Lower rental. (1)
Overcrowding (1)
[ANY TWOQO] (2x1)(2)

144 (a) It's a gentle slope/ land is flat (1x2)(2)

(b)  Buildings require large flat ground space. (2)
Dependent mainly on rail transport. (2)
Produces heavy and bulky goods. (2)
(ANY ONE) (1x2)(2)
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1.5.1

1.5.2

1.5.3
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Heavy industrial zone requires large plot of land (1) whereas the
1d is used intensively in the CBD. (1)
avy industrial zone uses heavy load transport (1) while the CBD

%s mostly light motor vehicles (1)

Heavy-industrial zone often generates pollution (1) while the CBD

aims to reduce pollution (1)

The land value is high in the CBD (1) while the heavy industrial

zone requires lower land values. (1)

Heavy industrial zone produces heavy and bulky goods (1)

while the CBD produces lighter goods (1)

NB: THE LEARNER MUST QUALIFY THE

ANSWER

[ANY TWOQO] (2x2)(4)

Overconcentration and the slow movement of vehicles on the road.
[CONCEPT] (1x2)(2)

Road construction. (1)

Accidents. (1)

Reckless driving. (1)

Insufficient police presence (1)

[ANY ONE] enk (1x1)(1)

Air pollution. (1)

Noise pollution. (1)

Emitting higher greenhouse gases. (1)

Contribute to smog. (1)

Acid rain. (1)

Global warming. (1)

[ANY TWOQ] (2x1)(2)

Workers arrive late at work/ decrease in production. (2)
People are retrenched/ loss of jobs/ reduction in salaries. (2)
Deliveries are delayed. (2)

Decrease in available market. (2)

Decrease in profits. (2)

Businesses may close down. (2)

It leads to higher fuel costs. (2)

Reduction in the provinces’ revenue. (2)

Destruction of road infrastructure. (2)

Increase in food prices. (2)

Decrease the buying power. (2)

Increase maintenance costs. (2)

Increase in insurance claims. (2)

[ANY TWOQO] (2x2)(4)
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1.5.56 (Construct) ring roads. (2)
(Construct) bypass roads. (2)
(Create) One-way streets. (2)
Synchronised traffic lights. (2)

Dedicated lanes ( pl

Directiona - es). (2)
Increased 1 \CC! mples). (2)
Efficient road mair Ac amples). (2)
Improve/ redesign ircles. (2)
(Display) electro mples). (2)
Decentralised c
Improve public t
Encourage f&
Encourage staggered worklng hours. (2)

Charging vehicles for entering the city. (2)

Presence of traffic officials during peak hours. (2)

Roadworks should be avoided during peak hours. (2)

[ANY THREE] (3x2)(6)
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QUESTION 2: ECONOMIC GEOGRAPHY OF SOUTH AFRICA

21

Tertiary

Primary

Secondary

Quaternary

Secondary

Primary

Tertiary

Tertiary (8x1)(8)

NMMNMNNNNNND
G G e Gy
N AWN =

2.2
2.2
222
2.2.3
224
2.2:9
2.2.6
227

(market-orientated)

(light)

(ubiquitous)

(heavy)

(raw material orientated)

(footloose)

(break-of-bulk industry) (7x1)(7)

<<N<NN<X

2.3 SUGARCANE FARMING
2.3.1 65000 (Direct jobs). (1 x1)(1)

2.3.2 Increasing production costs (labour, fuel and fertilizer). (2)
Competition from cheaper imports and sweeteners. (2)
Land reform challenges. (2)

Natural disasters (accept examples). (2)

Unreliable rainfall. (2)

Decrease in global demand. (2)

Fluctuating global prices. (2)

Lack of investment. (2)

Sugar-tax / health promotion levy. (2)

Labour strikes. (2)

Loss of farm land due to development. (2)

Vulnerability to crime. (2)

[ANY ONE] (1x2)(2)

2.3.3 (Summer) temperatures are relatively high in these two provinces. (2)
Adequate rainfall. (2)
Availability of labour force (skilled and unskilled). (2)
Government support programmes (accept examples). (2)
Availability of good infrastructure network. (2)
Availability of market. (2)
Availability of farm (fertile) land. (2)
[ANY TWOQO] (2x2)(4)
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2.34

Contributes to the GDP. (2)

Stimulates economic growth. (2)

Development of infrastructure (accept examples). (2)
Create jobs opportunities. (2)

Enhance exports and trade. (2)
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Earn foreign exchange / enables foreign capital to flow into the country. (2)
Stimulates the tertiary sector/ multiplier effect (accept examples). (2)

Stimulates the growth of rural economy. (2)
New skills are developed. (2)
[ANY FOUR]

DUBE TRADE PORT

2.4.1 An export-orientated manufacturing area near the transportation

242

2.4.3

244

2.4.5

hubs intended to attract foreign investment.
[CONCEPT]

Mahindra South Africa. (1)
Auto Investment Holdings Group (AIH Group). (1)
[ANY ONE] :

It creates formal employment. (2)
Multiplier effect (accept examples). (2)

It increases industrial development (accept examples). (2)

It increases the amount of services rendered. (2)
It increases the development in infrastructure. (2)
Skills development/education. (2)

[ANY ONE]

It improves the standard of living (accept examples). (2)
It relieves poverty (accept examples). (2)

Allows for the upskilling of the workforce. (2)

Reduces social ills (accept examples). (2)

It increases buying power. (2)

[ANY TWOQO]

Availability of labour. (2)

Availability of harbour. (2)

Availability of an airport. (2)

Developed infrastructure (accept examples). (2)
Availability of raw material (accept examples). (2)
Availability of flat land. (2)

[ANY THREE]

Copyright Reserved

(4x2)(8)

(1x2)(2)

(1x1)(1)

(1x2)(2)

(2x2)(4)

(3x2)(6)
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2.5 INFORMAL SECTOR

2.5.1 Informal sector refers to economic activities that are not regulated
by the government, do not require formal business registration,
and are often not taxed.
[CONCEPT] (1x2)(2)

2.5.2 Street vendors. (1)
No shelter for the informal businesses. (1)
Exposed to weather elements (1)
[ANY ONE] (1x1)(1)

2.5.3 Formal employment is unable to create enough jobs/high. (2)
unemployment rate. (2)
High poverty levels. (2)
Failure to attract foreign investments. (2)
Weak economic growth. (2)
Failure to upskill job seekers/ limited access to education and training. (2)
Limited financial resources. (2)
Gender inegualities. (2)
lllegal immigrants cannot access formal employment. (2)
Fewer regulations. (2)
Cheaper (easy) to start. (2)
Flexible (can work from home) (2)
[ANY TWO] (2x2)(4)

2.5.4 Tax base of the country is reduced. (2)
Less profit for formal businesses. (2)
Decrease employment.in the formal sector. (2)
Strain in the public services. (2)
Government budget decreases. (2)
Result in the increase in counterfeit goods. (2)
Result in the'increase in pollution (decreased aesthetics). (2)
[ANY TWO] . (2x2)(4)

2.5.5 Provide designated trading areas (infrastructure). (2)
Offer training and support. (2)
Facilitate access to finance. (2)
Simplify the process of obtaining trading permits. (2)
Promote partnership and dialogue. (2)
[ANY TWOQO] (2x2)(4)
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SECTION B

QUESTION 3: GEOGRAPHICAL SKILLS AND TECHNIQUES

3.1 MAP SKILLS AND CALCULATIONS

3.1.1 Free State (1x1)(1)
3.1.2 Latitude (1x1)(1)
3.1.3 20 (metres) (1x1)(1)

VI

3.1.4 Gradient = e

VI=1431-1427=4 v m

HE =7.5cmx 100 = 750v'm

750 4

1:1875v 4 x1)(4)

3.1.5 Magnetic Bearing = True bearing + Magnetic declination v/
=137° + 22°16" Westof TN v (From 136° to 138°)
=159°16"v  (Range 158°16" to 160°16") (3 x 1) (3)

3.2 MAP INTERPRETATION

3.2.1 B (Farming) (1x1)(1)

3.2.2 Dam. (1)
Reservoir. (1)
Silos. (1)
Roads. (1)
Furrows. (1)
Row of trees. (1)
Buildings. (1)
[ANY ONE] (1x1)(1)

3.2.3 Farms have names (Accept examples). (1)
Farms are large. (1)
They have clear boundaries. (1)
There is irrigation system (availability of dams). (1)
There are roads for transportation. (1)
Storages for farm produce (silos). (1)
[ANY TWOQO] (2x1)(2)
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3.24 (a) Rural-urban fringe

(b)  Away from the built-up area. (2)
Land is cheaper in this zone. (2)
Large open spaces. (2)
Located at the lowest point. (2)
Located closer to the dam. (2)
Closer to the river. (2)

3.2.5 Primary

3.2.6 Conveyor belt. (1)
Excavation. (1)
Mine dump. (1)
Protected area. (1)
Reservoir. (1)
Dam. (1)
[ANY ONE]

3.2.7 Irregular street pattern

3.2.8 Ensures free flow of trafficr(2)
Minimizes travelling time (and saves fuel). (2)
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(1x1)(1)

(1x2)(2)
(1x1) (1)

(1x1)(1)
(1x1)(1)

It has an aesthetic appeal (not monotonous / not dull). (2)

Can conform to any landscape. (2)
[ANY ONE]

3.3 GEOGRAPHICAL INFORMATION SYSTEMS (GIS)

(1x2)(2)

3.3.1 The description (characteristics) of spatial objects/ geographical

features.
[CONCEPT]

3.3.2 B (620 learners)

3.3.3 (@) Road. (1)
River (non-perennial river). (1)
Track and hiking trail. (1)
Fence. (1)
[ANY ONE]

(b)  Trigonometrical beacon. (trig station)
Trees
[ANY ONE]

3.3.4 Topography/ relief

3.3.5 Difficult to build on. (2)
Construction / building is expensive. (2)

(1x2)(2)

(1x1) (1)

(1x1)(1)

(1x1)(1)
(1x1) (1)

Potential hazard (soil erosion, landslides, mudslide). (2)

[ANY ONE]
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TOTAL SECTION B: [30]
TOTAL MARKS: 150



